There were 17 birds in a tree. 8
flew away. How many birds are
left? \
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There are 18 oranges in a basket.
The children eat 9 of the oranges.

How many oranges are left in the
basket?

There are 20 apples in a bag. 7 of
these apples were eaten. How
many apples are left?

Ms. C has 18 cubes. She gives
away 9 to the children. How many
cubes are left?

There are 17 stars in space. A
naughty alien zapped 9. How
many stars are left?
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A happy penguin collects 13 fish
from the lake. He felt hungry and
ate 5. How many fish are left?

Magda has 20 colouring pencils.
She gives Tom 9 pencils to use

for his picture. How many penc:lls
does Magda have now? |

Toby the fat cat catches 12 mice.
But 6 of them escape. How many
mice are left?

There are 15 rabbits in a field. 6
of them hop off. How many
rabbits are left?




There were 7 birds in a tree. 3
flew away. How many birds are
left? \
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There are 8 oranges in a basket.
The children eat 5 of the

oranges. How many oranges are
left in the basket?

Ms. C has 9 cubes. She gives
away 3 to the children. How
many cubes are left?

There are 7 stars in space. A
naughty alien zapped 4. How
many stars are left?
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There are 10 apples in a bag. 4
of these apples were eaten. How
many apples are left?

A happy penguin collects 8 fish
from the lake. He felt hungry and
ate 6. How many fish are left?

Magda has 10 colouring pencils.
She gives Tom 7 pencils to use

for his picture. How many pencils
does Magda have now? ‘

Toby the fat cat catches 9 mice.
But 6 of them escape. How many
mice are left?

There are 10 rabbits in a field. 2
of them hop off. How many
rabbits are left?




